371
e 15)

22T -
Amplitude = 7 t) Period Jj?,_ Amplitude = 8 Penee T
Eq of Midline: \_5 — $b

\\

Eq of Midline: \'5

The Parent Sin6 function:

. (o) (55 1) L

e -1

; 21
Period =
. _ [ Max =
Amplitude = 7 Period = 6__(' Amplitude = 1 Mi
F=—— _ in=_-
k), Eq of Midline: Y =0

Eq of Midline: 3_ ‘\O




The Parent Sin6 function:

1
%)
25D
Tr 2Tr 0° ;\\(I.ﬂ)
X ) '"/f
./
)
x-int at y-int Domain: Range:
o, T, 21 0 (_oo,eo) [-1,1]
Parent Function: y = sinx
v,
| RV
)| ey e
0 t t Lt
1 2 3
X
-1+
N y = 2 sinx
this graph is twice as
34

tall as the
Parent Function

Parent Function: y = sinx

X

) this graph is three times
y=3sinX tgller than the
Parent Function

oo this graph is half
29 as tall as the

N Parent Function: y = sinx
ol
B
0 y . g 5 . bl .
1 2 3 W . Parent Function
1+
2+
34



Parent Function: y = sinx
y = asinx
y = -3sinx a = Amplitude (Vertical Stretch Factor)

this graph is three times

I— tallér than ik Can you have a negative Amplitude?

Parent Function No, since amplitude is a distance, it can't be negative.
1 2 ; 4 5 «~_and Upside Down. ) ] .
* If a<0 then there is an x-axis reflection.
Upside down
vy .4 e
3T y = sin2x

Now Do Part 2 of the Exploration. 2t

Remember:

distance between two points 1t
# cycles between those two points

Period =

Period = =< i




o

L

y = Sin4dx

ANANA AN
VAAVARVARVL
Period=02T\_-/L( = '9~

sinbx Period .

: y = sinbx
sinx 2 -
in2x | 2L —

sin 2x > T Seriod = on
sin4x %T” = % ernod = b

am\?- = ( mJ
sin% 2T7T =4r
)

y = sinx/2

! 21

0 t t t t t =

1 2 3 4 5 6

_2 ;’IT,/‘/L :: HTu

Period =

Find the amplitude and period for each Sine Function:

1. vy = 7sin5x 2. v=—4sm¥
- |
: : 3

Amplitude= Q = 7 Amplitude= (] = ‘1
Period= 2‘__‘((

T Period= g‘; ‘_é-_—_(o’l-[-
9 I/é |



The Parent Function: y = Sinx

vh Period= 21

V.

Amplitude= 1

Eq of Midline: y =0

Sketch one period of the graph of
y=3sin4x

AN

Label the c Bsdlnates of all x- lntercepts minimums, anda Xi

eYlD
g‘/v m,ouma
Toamp=

%E/
\0,

y = asinbx

a = Amplitude

a<0 is an x-axis reflection (upside down)

2
b: ——— Period = TTE

Sketch one period of the graph of ‘P.er’ [Dd/ _,_’_C_"/‘(

y= -53|n( > ) 7/
Label the coordinates of all x-intercepty; minimurc g??(lmum&\’ g/D

(o/b\ (‘% ﬂ/D\




Using y = asinbx

To find find the value of a on a given graph
all you need to know is the amplitude.

If the cycle in your graph starts on the midline
and goes up to a maximum ais Positive

If the cycle in your graph starts on the midline
" and goes down to a minimum ais Negative

Write the equation of this sine function. y = asinbx

2.0

2n

Y =2

>
10-/\ A / Period=2—|;t & = Q—/
3

ot emcenssose] Wecsefhlsencoscudiunsif 1 b= Period

ST |
T

Using y = asinbx

Solving for b you get:

Period = 2%

b

_ T
b= Period

Therefore, to find the value of b given a graph
all you need to know is the period.

Write the equation of this sine function.

y

58

107

A//w




Write the eauation of this sine function. y = asinbx Write the equation of this sine function. y = asinbx

¥ =—6sin(x/8) (127 6 (287,6) \
) m(x (127,6) 7,6 a"__' k j:76\r\ k b;

N b’:— 27( /l_ ‘»4;“()‘

0"“ 3
(32/’[,0) . AP -T[
((P,(\ . : (\)q/?_ 5 ’ (07( z X ——%
L7 ) |
(4r,-6) (207,-6) L p— 2 T —
2T
Write the equation of this sine function. y = asinbx Write the equation of this sine function. y = asinbx

y — V= 7K K 3
a=5 P el 77/-22 | y (F4 (g

g=oen(e) Y




You can now finish Hwk #21 Sec 13-4
Page 738

Problems 13, 14,

22, 23,27 31, 32, 42

for #'s 22, 23, 27 label the coordinates of ALL Max's, Min's, and x-int



